* SE7LBUITRAJNZ1IZ7RE %

e
1 2 3 4 5 | e tyh 5= & 1 2 3 4 5 ol e ty bk J—A I
Jovy [ #i75 | RiE B8 | LA K| iRt 50 (CIESEIEEIESEI N C Joyy KR BB | 1K 185 | AN 28X | 2k R (CIESEIEEIESE
CcC|1
PEM S X — — X — KR B X — — X —
C|2
Rl BE — X X — — Ik 1A — X X — —
C |3
A K — X X — — AT RER — X X — —
cCl4
NN X — — X — Rk thE X — — X —
C|5
— — — — X — — — — X
1 2 3 4 5 | e tyh J—A I8 1 2 3 4 5 | e yh J—A B
Joyy KA E—| REZ |8H F=F| BA E CIESEIEEIESES D JOvy sk RE| Ba BB | Bl N BRI E|B XE
D1
Kl B— X — — X — sk RS X — — — —
D|2
REZ — X X — — Ba g — X — — —
D|3
BH =F| X X — — el e | — — x — _
D|4
BA 12 X — — X — — — — X —
D|5
— — — — X — — — — x




* SB7ENTRAFVMNZIZV AR *

RELEBTF
1 2 3 4 5 tyh =l 1 2 3 4 5 tyh G'=lb
I [
E JOvy AE NIK| #5H £X| LA AKX H#ﬁ?gﬁﬁ?%%%’ﬁ G Jovy %ﬁ%%ﬁ?\%%ﬁjﬁ
G|1
AE Nk X - — — — X — — X —
G|2
#5MH £+ — X — — — x 52 _ _
G|3
LI #X — — X — — x x — _
G|4
— — — X — X — — X —
G|5
— — — — X — — — — X
1 2 3 4 5 tyh =l 1 2 3 4 5 tyh G'=lb
- e S I - [l
F Jovy BT 152K | B 22K | A hiB 2 AESEIRCIESE-S . H J0vy B & BIXIE|BIXE .
H1
e k| x - — — — 9 _ _ _ _
H|2
it K - X — — — X — - -
H|3
i A8 — — X - - — X — —
H |4
_ _ _ x _ _ _ x _
H|5
— — — — X — — — — X




* FHE7EITRANMNZ1IZVRE %
thPERT




